Secondary Math 2 Unit 12 Review Name: ‘&%’“ Period:

1) Find the volume of the solid. The length of the

base is 10 in, the width of the base is 3 in, and
the height of the solid is 7 in. =71in
V=0wh.= (10Y2)(1) = 3in e
[Oin
A V=20in3 B V=70in3 C V=100in3 D V=21OinT]
L

2) Ajar of peanut butter has a base with a radius of 4 cm and a height of 8 cm. Find the volume. = Tcrllq
Ylindey

AV =32rcm3 F V =128r cm? ] Cy 32m D 1287

V= To(4%(2)

3 3
3) Find the volume of the solid. The length of the
base is 3 ft, the width of the base is 4 ft, and the ‘ o
height of the solid is 6 ft. b

| “Height
= .l_ i\., = .i !
V= 3lwho =3(3)(4)(0) .

Pyramid

AV =8ft3 B V=133 ['c T ! D V=72f3

3

4) Find the volume of the solid. The radius of the
base is 6 cm and the height of the solid is
11 em:

V=35Tor*h = 3Tc(0 (1)

AV =396r cm? B V=22rcm3 C V=66mrcm3 ‘ D V=132rcm3




5) Find the volume of the solid. The radius of the |

sphere is 2 m.

— 5
V=1LTr2 -

L e

A V=_8tm? B l6m _32m b ,_8m 4
V= —3— m3 V= 3 m V= 3 m
6) Find the area of the polygon. Assume the measurements 7 46
are given in miles. 6 @ (4, 6)
AU—A -A‘L— :Aor‘igl'nq' 5 g 3
A (4)(5)= 20 mi™ 4 [Fyes
—L(‘?’)(D 2smi* £
Az— LN =15 m* 3
3= L (eXN=2 Sm* .
1 :
Aoriq\hql = 20-25-|.5-2.5 = psm* _o/0D 4 O1
-1 101 2 3 4 5
-1
A A=65mi2 rs A = 13.5 mi? C A=7mi D A=14mi?
7) Find the area of the polygon. Assume the measurements
are given in inches.
3. 2) Au («5)(_\5) 2% n®
(*)(2) % in* _
1‘\2 7.(‘3(0205‘”
4 '%(?—XLO Lin*
L @@= 4.5
Aor\q\m\‘ 25-4-05 "1~ 45 =\21n*
Y A A=12 inZJ B A=125in? C A=13in D A=135in?




8) Find the area of the polygon. Assume the

measurements are given in centimeters.
Aa= (H)(e) = 24 e
A\ = 5 (X2 =1 em”
3¢ 2)(4)=4 em*
A3 = (8= 3 Cm
Aq.- 2(5 (‘ e ‘Scm
Ag= (3) N= 3am?
AL = (2.)('2) 2 om™
A A=13cm?

B A=145cm? C A=14cm? TD

Aor(qlfﬂlz £ =j=y=B i S=n-5 =9.9 o

9) A rectangular pyramid has a volume of 30 cubic inches. What is one possible set of dimensions for the pyramid?

V=30 in? many dnswersl

/A\ V=0uoho
" \Vw L=Sihw=2nh=23n V=30In?

=10 wW=3 h=1I~ v= 30‘\n3

10)  What is the volume in cubic inches of the solid figure,

rounded to the nearest cubic inch? el il 121in.
L\ o X ori
5 NV odnder + \/eet. priem

17 N, =

”‘2“(15(@2(@)‘?(10(0307_ | — L%,
229.292 + 192 = [||3| in3

11) Two similar cones have heights 4 m and 12 m.

—

a. What is the ratio of their heights? ' alg
k=2 =[L
[Z

3

b. What is the ratio of their surface areas?

s P - [

3% |

C. What is the ratio of their volumes?
3

2= AT

37 121



12) A greenhouse has the dimensions shown in the figure. What is the volume of the greenhouse? Round to the
nearest cubic foot.

\/anngular + \/

Prism I"lSm
2(IO)(19)3) + (BY4)(22) |
= ey NI0 =gt J&}J
13) If you need 3 gallons of paint to cover a wall 10 feet high, how much paint would you need to cover a §im_\ilar
wall that is 15 feet hlgh? AYeal area.
Teoaaty gtin AAQRS Jw/two)
= 10 2 2': .-2'_— = _L_t_ —+ 2 X: 2
=5 % FTFETS s ol g
14-15: Find the volume. X = Q>_| =
gallons
14) cone 15)
(drevlar pyramid) g l
TN Nty
12 ¢m Al i
- 10 m 3000903) +
- (1o)X 10)(10)
= aY) ’
pem 2 ,/ 1om =423.32 + 000

V= (e @N5)(12) 10m

=rﬁfaum; om? |

SS4Y.1.7T1 e volumes
16) A milk jug shaped like a cylinder has a base area of 100 cm? and can hold 1500 cm? of milk. The height of the

. tainer is:
juice container is oved : -,CY-’I_ \/DIMW\—@ - TCY'Z}\J
BOSIR prhelsoo

(l%)b = =0
| (OO
E= |5 am
17) Find the diameter of a soccer ball with a volume of 1436.76 in® to the nearest inch.
d=2r  sphere

. 3 _
V= (426 1k n> y = P
= a4z

| G
H\Cr® = (426,76
e [r=Tin?)

[Vt = 1422.32m?

h




